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Question Id : 68634038688 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634038689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152801. 1

686340152802. 2

686340152803. 3
686340152804. 4
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Question Number : 2 Question Id : 68634038690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152805. 1
686340152806. 2
686340152807. 3
686340152808. 4

Question Number : 3 Question Id : 68634038691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340152809. 1

686340152810. 2

686340152811. 3
686340152812. 4
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Question Number : 4 Question Id : 68634038692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152813. 1
686340152814. 2
686340152815. 3
686340152816. 4

Question Number : 5 Question Id : 68634038693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152817. 1
686340152818. 2
686340152819. 3
686340152820. 4

Question Id : 68634038688 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634038689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152801. 1

686340152802. 2

686340152803. 3
686340152804. 4
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Question Number : 2 Question Id : 68634038690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152805. 1
686340152806. 2
686340152807. 3
686340152808. 4

Question Number : 3 Question Id : 68634038691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152809. 1

686340152810. 2

686340152811. 3
686340152812. 4
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Question Number : 4 Question Id : 68634038692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340152813. 1
686340152814. 2
686340152815. 3
686340152816. 4

Question Number : 5 Question Id : 68634038693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152817. 1
686340152818. 2
686340152819. 3
686340152820. 4

Sub-Section Number : 2
Sub-Section Id : 6863401271
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634038694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340152821. 1
686340152822. 2

686340152823. 3
686340152824. 4

Question Number : 6 Question Id : 68634038694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340152821. 1
686340152822. 2
686340152823. 3
686340152824. 4

Question Number : 7 Question Id : 68634038695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 99 + oy
2. i + o

3. i + 3y
4, 97+ Tyo

Options :

686340152825. 1
686340152826. 2
686340152827. 3
686340152828. 4

Question Number : 7 Question Id : 68634038695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. TET + 9oy
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Options :

686340152825. 1
686340152826. 2
686340152827. 3
686340152828. 4

Question Number : 8 Question Id : 68634038696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152829. 1
686340152830. 2
686340152831. 3
686340152832. 4

Question Number : 8 Question Id : 68634038696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340152829. 1
686340152830. 2

686340152831. 3
686340152832. 4

Question Number : 9 Question Id : 68634038697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"S5 o1 STt e gl J g ol faaE §:

1. HIH-HTH
2. PH-HTd
3. AR
4, HTS-TRI

Options :

686340152833. 1

686340152834. 2

686340152835. 3
686340152836. 4

Question Number : 9 Question Id : 68634038697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152833. 1
686340152834. 2
686340152835. 3
686340152836. 4

Question Number : 10 Question Id : 68634038698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 90
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Options :

686340152837. 1
686340152838. 2
686340152839. 3
686340152840. 4

Question Number : 10 Question Id : 68634038698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"3{T EI&1 &1 391 Iolg 41" § g9jg &1 yaigard &:
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Options :

686340152837. 1
686340152838. 2
686340152839. 3
686340152840. 4

Question Number : 11 Question Id : 68634038699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152841. 1
686340152842. 2
686340152843. 3
686340152844. 4

Question Number : 11 Question Id : 68634038699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152841. 1
686340152842. 2
686340152843. 3
686340152844. 4

Question Number : 12 Question Id : 68634038700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340152845. 1
686340152846, 2

686340152847. 3
686340152848. 4
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Question Number : 12 Question Id : 68634038700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 13 Question Id : 68634038701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152849. 1
686340152850. 2
686340152851. 3
686340152852 4

Question Number : 13 Question Id : 68634038701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152849. 1
686340152850. 2
686340152851. 3
686340152852. 4

Question Number : 14 Question Id : 68634038702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152853. 1
686340152854. 2
686340152855. 3
686340152856. 4

Question Number : 14 Question Id : 68634038702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152853. 1
686340152854. 2
686340152855. 3
686340152856. 4

Question Number : 15 Question Id : 68634038703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152857. 1
686340152858. 2
686340152859. 3
686340152860. 4

Question Number : 15 Question Id : 68634038703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340152857. 1
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686340152859. 3
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Question Number : 16 Question Id : 68634038704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152861. 1
686340152862. 2
686340152863. 3
686340152864. 4

Question Number : 16 Question Id : 68634038704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Ufda I 40 Tsiohdl 3, GXpH A 304 WIH DI 30 gl 3R 5 M 59 YR WHiaRa foar & dfda
o 39 9l 3R 10 TSfedl 35| afe 2. g3 o 4o Ui 9 4 = S o, 9 g™ ot
3R dfed & sid 4 = & FRyfd s g2

1. 18

2. 20

3. 22

4, 24
Options :
686340152861. 1
686340152862.2

686340152863. 3
686340152864. 4

Question Number : 17 Question Id : 68634038705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152865. 1
686340152866. 2
686340152867. 3
686340152868. 4

Question Number : 17 Question Id : 68634038705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152865. 1
686340152866. 2
686340152867. 3
686340152868. 4

Question Number : 18 Question Id : 68634038706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340152869. 1
686340152870, 2

686340152871. 3
686340152872. 4

Question Number : 18 Question Id : 68634038706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340152869. 1
686340152870, 2

686340152871. 3
686340152872. 4

Question Number : 19 Question Id : 68634038707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152873. 1
686340152874. 2
686340152875. 3
686340152876. 4

Question Number : 19 Question Id : 68634038707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tfeay T US 31eR &1 Ugd Uied 3R U= Siad Wl a<idn o I&bdl g
AfeaE- 1

[ %]

=3 (=1 e
e =T sl (=
= Rl R

2

[ el = e

|| —=] =
= =1 = el

Lol ]
|

L]

I SN

(] (70 ol e IR (R

T | | e e

7 I ISR EES

=1 =1 A 2

LYol | W]

|
FAITH Y=g & {010 Ol 9c & ggaiH o

1.43.42,.41, 78, 89

| )

31,349,283, 76,79
3 24,31,10, 59,57
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Options :

686340152873. 1
686340152874 2
686340152875. 3
686340152876. 4

Question Number : 20 Question Id : 68634038708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634038708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y SIS BT 99 B [orges! Hay e ST U Iea] & O 6is & 9O © -
HUST : R
1. €1 : Tl
el : e
Tl - HYedl
it - gt & &cq
Options :
686340152877. 1
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Question Number : 21 Question Id : 68634038709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340152882. 2

686340152883. 3
686340152884. 4

| B

Question Number : 21 Question Id : 68634038709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR Tfay & g =g O U=rad I &1 S B WU 6 7

1, %54 36

. w96 39
3. 354 40
4. HT=54 48

Options :

686340152881. 1

686340152882, 2

686340152883. 3
686340152884. 4

| )

Question Number : 22 Question Id : 68634038710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 61 gl 11 ¥ ffeH sife

AT T I
(TS 1) (ﬁw 1 M)
A. DMy Truth . [rrEe s
B. [The Broken Wings 1L [Efcar sl
C. [My Experiments with Truth| 11 [GRISH 9108
D. |[Exam Warriors IV. |94 i
Frafciad fdeedl § I Ugl 3R &1 99 DIl ;

1. A-IV, B-IIL. C-I. D-1II

[ ]

CA-IIL B-ILL C-L D-IV
3. AL B-1IIL C-1. D-IV
4. A-IT. B-IIIL. C-IV. D-1

Options :

686340152885. 1
686340152886. 2
686340152887. 3
686340152888. 4

Question Number : 22 Question Id : 68634038710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 gl 1 ¥ e Sifo
LSl I 11
(&I &1 ATH) (F'\@T:F BT 9TH)

A DMy Truth . [FrEE T

B. [The Broken Wings 1L [Bfexr i

C. My Experiments with Troth 111, W:ﬂ-_-ITEIE

D. [Exam Warriors IV. = Aigt
FafeRad fameal § 9 et Ior &1 99+ BT :

1. A-TV. B-III. C-1. D-II
2 AL B-11, C-1, D-IV
3. A-IL B-1IL. C-1. D-IV
4. A-IL. B-IIL. C-IV. D-1
Options :
686340152885. 1

686340152886. 2
686340152887. 3



686340152888. 4

Question Number : 23 Question Id : 68634038711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URrT: Well # ol sifa= ardl ged! YRdi A B 8 2

1. G2 3o

T2 faea
3. BT 9Y
4, A1 ERT

Options :

686340152889. 1

686340152890. 2

686340152891. 3
686340152892. 4

[ ]

Question Number : 23 Question Id : 68634038711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Uik Wt o ol Sid- arefl ugdl YRdi o aE 2

1. 4Ld, gur

TR fawa
3. PHTIT GY
4, AT el

Options :

686340152889. 1

686340152890. 2

686340152891. 3
686340152892. 4

[ ]

Question Number : 24 Question Id : 68634038712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



14 g1 PUF [4U TN & ifi®ys AS E0 ¥ fafed § d gOv 39% BRI RS 94 3

YT A - S0 T e g 87§ gadi €

HROTR : AT G Ul & fdqyd ey gidl &

SWRIFd HYF & 3Taiep 4, 1 U T fddedl & ¥ 9ad Sugad SR &1 949 $iod |
1. ASIRR &I 91 € SR R. A ] 92l e ©

A 3R R &9 9 B, Wi R, A 1 96! 1 76| ©

ATTE AR AT

4 AT APIRTT .

| B

[F5]

Options :

686340152893. 1
686340152894. 2
686340152895. 3
686340152896. 4

Question Number : 24 Question Id : 68634038712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & FU R & afipyT oS U H e & T SR SUS SR RFFIH T

YT A ST dedg ea F gsdi 5 |

BRI R : ST T8 Wi § fdegd e g 8

SR T & AP 1, 9 G0 7 fdded] & ¥ 999 SUad SR &1 99 B |
1. A SRR T 9@ § SR R, A D To| TR §

A 3R R T 9@ 8. Wid R, A ©1 981 027 76| ©

AYW S AR SNA ©

4 ANTIE APTIRIAE

| B

Laa

Options :

686340152893. 1
686340152894. 2
686340152895. 3
686340152896. 4

Question Number : 25 Question Id : 68634038713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIE A RIER R
g?ﬂm:?ﬁﬁmﬁfaﬂwchﬁ e AR ST I 417 A= arelt It 3R uate & 9 | favar o
[

DY I : T BIA P SR [ze IR F9 9t & {9 sigd o1 Auvrgang |

SUIad HUH & 3diep H, 1 iU U fadedl § ¥ e Suged SR &1 997 $IfU |
1, BYT I RIS I &

YA AR IS SEd §

3. PUTITT S, AT PUT 11 3T B

| ]

4 PYTI IEA S, AfpTPYT I T ©

Options :

686340152897. 1
686340152898. 2
686340152899. 3
686340152900. 4

Question Number : 25 Question Id : 68634038713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R sERkRume:

g?ﬂm:?ﬁﬁmﬁfaﬂwchﬁ die IR STTE I H 317 e+ arelt It 3R warg & &9 | fon S
[

DY I : T BIA P SR [ze IR F9 9t & {9 sigd o1 Auvrgang |

SUIad HUH & 3diep H, 1 iU U fadedl § ¥ e Suged SR &1 997 $IfU |

1, PYTI R SH 9 &
FYFTIAR I EA 3T §

3. YT IS, AP PYT 11 T ©

| ]

4 PYTI IEA S, AfpTPYT I T ©

Options :

686340152897. 1
686340152898. 2
686340152899. 3
686340152900. 4

Part B: Electrical Power and Energy Engineering
Section Id : 686340762
Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401272
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634038714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 1 3]

For Matrix 4=|1 5 1/.the sum and differences of maximum & minimum
13 1L 1]

eight value of Matrix are 4 and 8, then the eigen values for the Matrix A are.

1.5.-1.9
2.-2.6.3
b S e
4 -1.6.3

Options :

686340152901. 1
686340152902. 2
686340152903. 3
686340152904. 4

Question Number : 26 Question Id : 68634038714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 1 3]
R A=1 5 1| [T 31egE & Aban R TAaH sHirceffims

R

(ST FA T AT SR 3R 4 3R 8 ¥, 1 Sog A & sifbreneifm w g

1.5.-1.9

B

.-2.6,3
3930

4.-1.6.3
Options :
686340152901. 1
686340152902. 2
686340152903. 3
686340152904. 4



Question Number : 27 Question Id : 68634038715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A car accelerate from it's Stationary position for 8 seconds and travels a distance of
280m.

According to the mean value theorem, the speedometer at a certain time during
accelaration must read exactly.

1.0

-

. 18 kin/hr

i

75 k'l

4, 126 kim/hr
Options :
686340152905. 1
686340152906. 2
686340152907. 3
686340152908. 4

Question Number : 27 Question Id : 68634038715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF HR S9! R U 9 s 9955 & fou @Ra 8l § ik 250 e Sl gd ag
B © | HIeAHT WHT & SR, [l Hidd g = wisies @reamndD) &,
@R & SRF a1 719 &S g @nfew

1.0

3
a.

4, 126 oot HeT
Options :
686340152905. 1
686340152906. 2
686340152907. 3
686340152908 4

Question Number : 28 Question Id : 68634038716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



2

The solution of x2 ay g Jﬁ +y= sin(lc)g x2 )
drz dx -
I
L. y = Acos(logx)+ Bsin(logx) - 3 sin [iog;\'z]
5 I

r= Acos [Iug.‘cz) + Bsin(lugxz) + gsin(lugx)

Tt

cos(logx)

|_‘,3| f—

3.y = Acos(logx)— Bsin(logx) +

s : I
dogpes Acuﬁ(lﬂgxz]— Bsm(l(lgxz) —icn;):i(lugxz]

Options :

686340152909. 1
686340152910. 2
686340152911. 3
686340152912. 4

Question Number : 28 Question Id : 68634038716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T R 5
4 ) +xdi+y:sin(logx2)ﬁﬁg|
(i\fh d‘t
l
L. y = Acos(logx)+ Bsin(lngx)—gsi“[fﬂgxz)

| B

: | I
v =Acos []ngz) - Bsm(lugxz ) +38in {_lugx}

cos(logx)

| =

3. y= ACOS(IOgI) = BSinUng) w

) i I ’ -
4 y=4 cns(]ng 2 ) — Bsin (Iﬂg X2 ] - Ecus(lng i )

Options :

686340152909. 1
686340152910. 2
686340152911. 3
686340152912. 4

Question Number : 29 Question Id : 68634038717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1
=

The Radius of convergence of the power series [ {:) = Z :
: "
n=n 2043

[

d | =

(%]
b2 | ted

4.

b | —

Options :

686340152913. 1
686340152914. 2
686340152915. 3
686340152916. 4

Question Number : 29 Question Id : 68634038717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TN f(x)= > L P oifireRw B 3

a0 2" 43

| B)

d | o—

e
[ L%

1
2
Options :

686340152913. 1
686340152914. 2
686340152915. 3
686340152916. 4

Question Number : 30 Question Id : 68634038718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If x 1s continuous random variable. and a probability density function

f(x] - ;{E-_E'l-"ij xe (—00, oc) . The value of k 15

1.3

b
o | s

Caa
| 2

4.2
Options :
686340152917. 1
686340152918. 2
686340152919. 3
686340152920. 4

Question Number : 30 Question Id : 68634038718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg x & 4ad Jeo® 9X ¢ 3R U@ Widddl 99d Be
Flel= ke_}!x‘, x € (—o0, o0) edl kB AFEI

1.3

I
| o

| 2

4.2
Options :
686340152917. 1
686340152918. 2
686340152919. 3
686340152920. 4

Question Number : 31 Question Id : 68634038719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Force current analogy. stiffness constant K is analogous to

1. Inductance

| )

. Raciprocal of Inductance
3. Capacitance

4. Raciprocal of Capacitance



Options :

686340152921. 1
686340152922. 2
686340152923. 3
686340152924 4

Question Number : 31 Question Id : 68634038719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TO-YRT STl . T PIP K 5Fae_
1. IR&d
2. RP@ T fgaH
3. Y1
4. #1iear & oo

Options :

686340152921. 1
686340152922. 2
686340152923. 3
686340152924. 4

Question Number : 32 Question Id : 68634038720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

A moving coil ammeter having resistance of 10 ohm gives full scale. detection
when current of 5 mA passed through it. The resistance to be conmected to make
the instrument to read up to 1 A is

1. 0.050258

| B}

L 5410730
3.50Q

4. 50.03202
Options :
686340152925. 1
686340152926. 2
686340152927. 3
686340152928. 4

Question Number : 32 Question Id : 68634038720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U 9d pacil ThieR, fget ioRiY 10 319 (Q) 5. 96 39 5 9 5 mA faggd
YRT FaTied Sidl & ol a8 YUl Tt fasmur i 81 39 wforiy o1 7 i
o ofg SUERUT A SIS WU Il 98 1 AP Ug Idb |

1. 0.050258

5x10730

[ ]

4. 50.0320
Options :
686340152925. 1
686340152926. 2
686340152927. 3
686340152928. 4

Question Number : 33 Question Id : 68634038721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is a frequency sensitive bridge?

1. De-Santy Bridge

| )

. Owen's Bridge
3. Wien's Bridge

4. Maxwell's Bridge
Options :
686340152929. 1
686340152930. 2
686340152931. 3
686340152932. 4

Question Number : 33 Question Id : 68634038721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafrfea ¥ S oH-a1ue smafa 9o S92
1. SIgd Ed
2. A Eg
3.9 9g
4, Teyad 9

Options :

686340152929. 1
686340152930. 2
686340152931. 3



686340152932. 4

Question Number : 34 Question Id : 68634038722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A 0 to 200V Voltmeter has a accuracy of 1% of full scale reading. The voltage
measure by this instrument is 50V. What is limiting error?

1. 4%

| )
wd
-]

4. 0.25%
Options :
686340152933. 1
686340152934. 2
686340152935. 3
686340152936. 4

Question Number : 34 Question Id : 68634038722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 0 - 200V dleediex B ayrelar ol o JfET @0) & i 19 81 3 a8
IYHRYT 50 dlecs HIGT © dl WD HHid Ffe il -

1. 4%

[ (]
3
e =]

4. 0.25%
Options :
686340152933. 1
686340152934. 2
686340152935. 3
686340152936. 4

Question Number : 35 Question Id : 68634038723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which displacement transducer iz used for accurate and linear measurement?

1.LVDT

| )

. Strain gauge
3. Potentiometer

4, Capacitive displacement transducer
Options :



686340152937. 1
686340152938. 2
686340152939. 3
686340152940. 4

Question Number : 35 Question Id : 68634038723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B 3 [GRITTH TESER 1 WarT gury SR IR&e 1197 & 68 §ia1 52

1. VDT

 fafommdt
3. favyaardt
4. TR fawI Tre i’

Options :

686340152937. 1
686340152938. 2
686340152939. 3
686340152940. 4
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Question Number : 36 Question Id : 68634038724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

C (H]

The overall gain of the block diagram shown below is

R(S)

C(S)

GGy
1= G, Hy — GG, 1,

GIGZ

LF%]

GG,
1= GIGEHI = GIGZHZ
Options :

686340152941. 1
686340152942. 2
686340152943. 3
686340152944 4

4,




Question Number : 36 Question Id : 68634038724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mmmﬁﬁaﬁwa@%mmwm?

€
R

C(s)

GG,
1= G,y H, — GG, H,

GG,
' 1-G,H, + GGy H,

L)

GI GZ
' 1-G,G,H, - GG, H,
Options :
686340152941. 1
686340152942. 2
686340152943. 3
686340152944 4

4

Question Number : 37 Question Id : 68634038725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTII
(Characteristic Equation)| (Nature of Output)
A |s2+185+64 I |Underdamped
B. [gZ=23 II. [Crtically damped
C. [s2-125+36 I1I. [Undamped
D. [g2:gg8-25 IV, [Overdamped

Choose the correct answer from the options given below:

1. A-I. B-IL, C-III. D-IV

[ ]

ATV, B-11, C-II1, D-1
3. A-L. B-III. C-ILI. D-IV

4. A-TV, B-I11, C-11. D-I
Options :



686340152945. 1
686340152946. 2
686340152947. 3
686340152948. 4

Question Number : 37 Question Id : 68634038725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g 1 14! 11 9 [HaH Sl

T 1 T I
A 524185464 L |7 agHica
B. [s2+25 II. [Fifasa: HgHfed
C. [s2=128-36 111. |3/dadfed
D. [§2+85+25 V. |affaeradicd
fFgferad fadedl & 9 98t Ik &1 999 SIS :

1. A-L B-II, C-III. D-IV

| )

CA-IV. B-IL, C-III, D-1
3. A-L. B-III, C-II. D-IV

4. A-TV, B-III. C-II. D-I
Options :
686340152945. 1
686340152946. 2
686340152947. 3
686340152948. 4

Question Number : 38 Question Id : 68634038726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTII
(Nature of Component)] (Tvpe of Component)
A |Amplidvne 1. |Rate feedback element]
E. [Potentiometer IT. |Actuator
C. [Stepper Motor III. |Serve Amplifier
D. |AC Tacho generator] IV, [Error detector

Choose the correct answer from the options given below:

1. A-IIL B-II. C-L. D-IV

|

A-L B-II, C-III. D-IV,
3. A-IIL B-IV, C-II, D-I

4. A-1. B-IV. C-II1.D-II
Options :



686340152949. 1
686340152950. 2
686340152951. 3
686340152952. 4

Question Number : 38 Question Id : 68634038726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt 1 D1 gl 11 9 fHaH Sife

g1 Tt 11
UG S5 1 [eX G9ERU 3T
faygaTd 1. [gad®
TR A |1 [galuasd
ac °l wlg | 1v e dgme

fAafaiad fdeeal O O Il IR &1 999 Difoid -

1. A-IIL B-II. C-L. D-IV

ola[w[s

2. A-L B-IL C-IIL D-IV,
3. A-IDL B-IV. C-ILL D-I

4. A-I. B-TV. C-II1.D-II
Options :
686340152949. 1
686340152950. 2
686340152951. 3
686340152952. 4

Question Number : 39 Question Id : 68634038727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. For a linear discrete system to be stable, the characteristics equation
1+GH(z)=0. should be inside the unit circle.
B. Bode diagram of a sampled data system can be constructed using bilinear
transformation.
C. Root locus technique can be used for sampled data system, without requiring
modification.

Choose the most appropriate answer from the options given below:

1. A Only

| )

. B and C Only
3. Aand C Only

4. A.B and C Only
Options :
686340152953. 1
686340152954. 2



686340152955. 3
686340152956. 4

Question Number : 39 Question Id : 68634038727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. TS IG® S¥dd Wune! (94g) & forg, =l §F & e fafny geieo
1+GH(z)=0 I, UHI% g & HiaR 8 A6l |
B.@WW@&%WWWWWWW
G|
C. gl faRud aa-ia &1 Wi, WidaRia ster yurel & o fo= fa
iR %, fear o godr 81

= o U faw e & waiite Sugad SR &1 909 S
1. %dd A

HaA B IR C

FATAARC

4. PIAA.B AR C

Options :

686340152953. 1
686340152954. 2
686340152955. 3
686340152956. 4

| )
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Question Number : 40 Question Id : 68634038728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Nyqusit plot of a system passes through (-1. j0) point in the G(jo) H (jo)
plane. the phase margin of the system 1s

1. Infinite

12

. greater than zero but not infinite
3. zero

4. less than zero
Options :
686340152957. 1
686340152958. 2
686340152959. 3
686340152960. 4

Question Number : 40 Question Id : 68634038728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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€. T UUITcH &1 Sal 9RER g

L 3

-2

X[ Y TSI W 3 el

3. 404
4. I DHH

Options :

686340152957. 1
686340152958. 2
686340152959. 3
686340152960. 4

Question Number : 41 Question Id : 68634038729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The system matrix of a linear time invariant continuous time system is given by
[0 1]

I. _4 _5 -

What are the roots of characteristics equation.

1.-1.-4
2.-1.-5
3.-4.-5
4.0,-1
Options :

686340152961. 1
686340152962. 2
686340152963. 3
686340152964. 4

Question Number : 41 Question Id : 68634038729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Us Y% BIa (A Sad SHged WU &1 (e 3iegg R sar e

fo 17

la s

dl fafry wefterur & ga (Fe) 81

1.-1.-4

[ ]

=1.-5
3.-4.-5

4.0.-1
Options :
686340152961. 1
686340152962. 2
686340152963. 3
686340152964. 4

Question Number : 42 Question Id : 68634038730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A: The state transition matrix represents the free response of the system.
Reason R: The state transition matrix satisfies the homogeneous state equation

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R 1s the correct explanation of A

| )

. Both A and R are correct but R NOT the correct explanation of A
3. Ais correct but R is not correct

4, A 1z not correct but R is correct
Options :
686340152965. 1
686340152966. 2
686340152967. 3
686340152968. 4

Question Number : 42 Question Id : 68634038730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



14 31 P [T §: U NP UT (Assertion A) & U H fifad § df ga=1 396
PRl (Reason R}%Wﬁ:

P UT A: TR FPHH 7oY. o BT Had SFfrdl <2iar g

HRUIR: HTRT HeHHUT HE, FHAT Ay GHIH S| TP Sl ©
SIRIF ®YT & i J, - U faeedi # 4 968 3ugdd 3T &l 994

1. AR RGHIGel § IR A DI Ta! R 8
2. A 3R R S T8l . dfFT R A B Tl ARl T8l &

3. ATEI R Ofp TR GRS

4 ATE TRl g PR TR ©
Options :
686340152965. 1
686340152966. 2
686340152967. 3
686340152968. 4

Question Number : 43 Question Id : 68634038731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The transfer function for the diagram shown below 1s given by

¢
| £
[
Input R QOutput
; 1
"1+ SRC
5 SRC
~ 1+ SRC
SRC
1-SRC
4.1+ SRC

Options :

686340152969. 1
686340152970. 2
686340152971. 3
686340152972. 4



Question Number : 43 Question Id : 68634038731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I fau v form o1 siafd weH femr wnar g

C
| £~
| . T
o R fig
T
1+ SRC
,  SRC
"1+ SRC
; _SRC
" 1-SRC
4.1+ SRC

Options :

686340152969. 1
686340152970. 2
686340152971. 3
686340152972. 4

Question Number : 44 Question Id : 68634038732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Damper Winding I. |To improvement the power factor
[ aminated steel II. |To reduce the starch current

| Auto transformer starters | [I1 [Prevent hunting
synchronous condenser | IV, [Reduce eddy cutrent loss

REE

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-II. D-I

-J

ATV B-IILL C-1L D-IT
3. A-L. B-1L. C-II1. D-IV

4, A-IV. B-ITI. C-II, D-I
Options :
686340152973. 1
686340152974. 2
686340152975. 3
686340152976. 4



Question Number : 44 Question Id : 68634038732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 1 1 gl 11 F e ifern

T 1 gl 11
A |3[gHed dadl 1. [ 7o @1 GURH & g
B. [efod ¥id 1I. [ARTE® YT &) &8 ®i & 100
C. [FauoniiE Uadd (Al amaE)| L Blnsda g
D [qeo@Iicd SR (GUTE) IV. [{aR YR1 39 & &H Bl

FafaRad [deel ¥ 1 981 3R &1 9g4 ifolg -
1. A-IIL, B-IV, C-IL, D-I
2. A-IV, B-IIL C-I, D-II
3. A-I B-IL. C-IIL, DIV

4. A-IV. B-ITI. C-11. D-I
Options :
686340152973. 1
686340152974. 2
686340152975. 3
686340152976. 4

Question Number : 45 Question Id : 68634038733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find R ¢ guivatent of the given circuit.

gﬁ
:

)

10y —=+ <’[‘> 51,

I

4,258
Options :
686340152977. 1
686340152978. 2
686340152979. 3
686340152980. 4



Question Number : 45 Question Id : 68634038733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferg 1Y faegd gRUY BT R o 31 PIST

k.
;. —h A A A —W 3 Q.
20 30 +
|+
10V — <T> 51
> b
1.3.330
2,50
3.1.77Q
4.2.5Q
Options :

686340152977. 1
686340152978. 2
686340152979. 3
686340152980. 4

Question Number : 46 Question Id : 68634038734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The function of oil in transformer is

—t

. To provide msulation & cooling

| )

. To provide protection against earthing

Cad

. To provide protection from in rush current

4, To protect from eddy current
Options :
686340152981. 1
686340152982. 2
686340152983. 3
686340152984. 4

Question Number : 46 Question Id : 68634038734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U GRUNTEE (EFIwHR) T 3 &7 o1 g1 8

1, YA 3R Sderdr UeH &3

U & [G%a GR& UaH BT
. SfcTaTE URTH GRAT UG HRAT

-2

[FN]

4. Hax YRT 519 F GR&T UalH BT
Options :
686340152981. 1
686340152982. 2
686340152983. 3
686340152984. 4

Question Number : 47 Question Id : 68634038735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
When the speed becomes more than the synchronous speed during hunting, the
damper bars develop

1. Synchronous motor torque

2

. Single phase induction motor torque

L]

. Induction motor torque

4. Induction generator torque
Options :
686340152985. 1
686340152986. 2
686340152987. 3
686340152988. 4

Question Number : 47 Question Id : 68634038735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

od BT & &R 919, Jeddliad 91d 3 4 8 9l ¢ df SaHeT o9
Iad B &

 Jega1ieres iR & STyu|

. U@ WIawd] YR Hiex §d STyu
TROT Hiex g el

4, TR S & STl

Options :

686340152985. 1
686340152986. 2
686340152987. 3

—t

[

a2



686340152988. 4

Question Number : 48 Question Id : 68634038736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The speed of an induction motor can not be continued as casily and
efficiently as that of a de shunt motor.

Statement IT: Slip of an induction motor can not be changed by varying the
voltage applied to the stator

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement II are false

. Statement I is true but Statement II 1s false

L]

4, Statement I 1s false but Statement IT 1s true
Options :
686340152989. 1
686340152990. 2
686340152991. 3
686340152992. 4

Question Number : 48 Question Id : 68634038736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B IR AIE A TAR Rl e

Y 1 U TR0 Aie 1 1. Uh of It e Al o e e smamFT 3
Headl § A &1 & gl o

YA 11: TF WRoft Aew & guvr ((&g) & gftad, 396 Tade (HRHE) T @
5! diecal & 9RadS &P, Tol ol off g&dT

SRIST BY & 3l H, - A e fasedl § § 9ad Iuged Ik &1 99+
Gl

1. BYF AR 11 SHI Hel §

2. YT AR S Tad &
3. PYT1 Tel 8. AfT HYF 11 7Tad §

4, HYFT 1T, AT DU I e §
Options :
686340152989. 1
686340152990. 2
686340152991 3
686340152992. 4



Question Number : 49 Question Id : 68634038737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTII
{Tvpe of Test) ( Quantities to be measured)
A |Open circuit test | I [Copper loss and iron loss
B. |Short circuit test | I1. [Total losses
C. |Sumpner's test | II1. [lron test
D. [Load test IV |Copper losses

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-1. D-11

|

A-TL B-1. C-IV. D-III
3. A-IIL B-I. C-IV. D-II

4, A-II. B-IV. C-I, D-III
Options :
686340152993. 1
686340152994. 2
686340152995. 3
686340152996. 4

Question Number : 49 Question Id : 68634038737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt 1 1 gl 11 9 fHaH Sife

RN 1 (URTEIUT 3 USTR)[E=I 11 (AU o forg TrRmn
A e givgy olig® | 1[I 31 IR TiE B
B. [ OOy T | I [pa g™
C. [gm=R gdigm 111, [e18-31d
D. [dlg (UR) GI&m | IV, [B19 B8

Frafafad fdeeal ¥ 9 981 St &1 994 Sifr .
1. A-IIL B-IV, C-I, D-II
2. A-IL B-L. C-IV, D-III
3. A-IIL B-1. C-IV. D-II

4. A-I1. B-TV. C-1. D-III
Options :
686340152993. 1
686340152994. 2
686340152995. 3
686340152996. 4



Question Number : 50 Question Id : 68634038738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Core loss in a transformer 1s usually

1. 1% to 3%

| B}

. 10% to 15%
3. 25%to 30%

4, 40% to 50%
Options :
686340152997. 1
686340152998. 2
686340152999. 3
686340153000. 4

Question Number : 50 Question Id : 68634038738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U@ TIHIHR (GRONREE) & 1S 59 fYsaR ol o

1. 1% 9 3%

10% 9 15%

I

3.25% 9 30%

4, 40% 9 50%
Options :
686340152997. 1
686340152998. 2
686340152999. 3
686340153000. 4

Question Number : 51 Question Id : 68634038739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Series field winding of de machine consists of

1. few turns of thick wire

| )

. few turns of thin wire
3. many turns of thick wire

4. many turns of thin wire.
Options :
686340153001. 1
686340153002. 2
686340153003. 3



686340153004. 4

Question Number : 51 Question Id : 68634038739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

U fapyr (31 9 02 1 4uit &3 Hocll g el § -
1. PE HBIART IR &
2. P9 B Udell dR &
3. 9gd Y BART AR &
4, Sgd Y PIUTA AR B

Options :

686340153001. 1
686340153002. 2
686340153003. 3
686340153004 4

Question Number : 52 Question Id : 68634038740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTII
1
A [y L ===
4
e 1
B. [hao I | =
Hi
|
C. |21 IIT. "}7—
D I ]
- |22z S
Zy;

Choose the correct answer from the options given below:

1. A-II. B-IV. C-III, D-1

-J

CA-ITL B-TV, C-L D-ITIT
3. A-IV. B-IL. C-1. D-III

4, A-IIL. B-IV. C-I. D-II
Options :
686340153005. 1
686340153006. 2
686340153007. 3
686340153008. 4



Question Number : 52 Question Id : 68634038740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt 1 D1 gl 11 9 fHaH Sife

I Geiill

|
A |y L =
"‘{]1

b 1
B. |h2o I |5
Hi

|

C. g1 IIT. "f_
22

D IN !

he} T

i . Z?..h

fufaiad faseal § O Ul IR &1 9g9 Sifoiy -

1. A-II, B-IV. C-IIL, D-I

| ]

AL B-IV, C-I, D-II1
3. A-IV. B-II. C-I, D-III

4, A-IIL. B-TV. C-1. D-II
Options :
686340153005. 1
686340153006. 2
686340153007. 3
686340153008. 4

Question Number : 53 Question Id : 68634038741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: A series BLC circuif is said to be in resonance when current
delivered by the source is in phase with the source voltage.

Statement IT: Power factor of a series RLC is zero, if circuit 1s 1n resonance
condition.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement II are true

-

. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement IT is false

4, Statement I 1s false but Statement II is true
Options :



686340153009. 1
686340153010. 2
686340153011. 3
686340153012. 4

Question Number : 53 Question Id : 68634038741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH S FUF U U B
BY 1: T 401 RLC URUY SFATEI el § o Hid gRI U D1 778 [degd
YRT, |d (Glecol) & 91y Sl | oidl o
%u%%:?wmcwﬁwmm%w?@ﬂ%uﬁwﬁw@ﬁ

|

SRIS ®YT & 3l H, - A e fodedl ¥ 4 98 Iugdd 3ok &1 98-
BT

1. BYF 1 AR 11 SHT Hel §
2 FYFT AR GHI Tad &
3. HU1 el 8. i S 11 7Tad ©

4. YT 1 TTad. AfF YT 11 T8l &
Options :
686340153009. 1
686340153010. 2
686340153011. 3
686340153012. 4

Question Number : 54 Question Id : 68634038742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The transfer impedances and admittance of a network remain constant when the
position of excitation and response are interchanged if the network

A. is linear

B. consists of bilateral elements

C. has high impedance or admittance as the case may be
D. 1s resonant

Choose the most appropriate answer from the options given below :

1. A and B only

[ ]

A, Cand D only
3. B and D only

4. A, B, C and D only
Options :



686340153013. 1
686340153014. 2
686340153015. 3
686340153016. 4

Question Number : 54 Question Id : 68634038742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt ufray ot siafd ufdamT IR vagal FRR Edl § 9e Iou- 3R
ifisforan &t fRufoal ooegR gea widl 8, afe gfvgy |

AMET R
B. feuefig sramai 1 a g
C. 31 3= uidaryn o1 yawgdl 2. (R SRy

D. 3§
=4 fag U feenl & waite Suged SR &1 909 $i

1. %0 A 3R B

. PAd A, C 3R D
3. $ad B R D

4. PAAA.B.C IRD

Options :

686340153013. 1
686340153014. 2
686340153015. 3
686340153016. 4

[ ]

Question Number : 55 Question Id : 68634038743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For a fixed voltage, the current flowing through a conductor will increase when it's

1. Area of X-section 1s reduced

-2

. Length is reduced
3. Length is increased

4. Length 1s mcreased and x-sectional area 1s reduced.
Options :
686340153017. 1
686340153018. 2
686340153019. 3
686340153020. 4



Question Number : 55 Question Id : 68634038743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R favd (diec o)) W, 4l =rae ¥ o 361 [dqgd 4RI 9¢ S, Sie g

1. X-98 &1 &% HH gl Slg

. TiaTE & H gl St

TiTg 95 S

4. GETS d¢ oyt 3R X-WE &l 89%d & 8l S

Options :

686340153017. 1
686340153018. 2
686340153019. 3
686340153020. 4

[ B

[ 5]

Question Number : 56 Question Id : 68634038744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If Thevenin's equivalent resistance of the given circuit seen from the open
terminals 13 2€Q. then the value of R’ will be

A AW
20 R
5
sv() i C[D 20 -
1.4Q
2. 260
3.1
4. 602

Options :

686340153021. 1
686340153022. 2
686340153023. 3
686340153024. 4

Question Number : 56 Question Id : 68634038744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7fe fqu 7u fagga ufvgy &1 969 qed wicRTY, 919 36 g <iia o o]
S1d1 § &1 9H 20 & | d 'R &1 HE I

*M.\'l ama
20 R
S‘v’() 14 (D 2682 —
1. 4G
2,20
3152
4. 682
Options :

686340153021. 1
686340153022. 2
686340153023. 3
686340153024. 4

Question Number : 57 Question Id : 68634038745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the figure shown, where H= High input. L = Low Input

H—1,
H——>=|1,
H—>s|1,
L—=>|1,

—————  out put

S; and S5 — Control Inputs

This multiplex is equivalent to

1. NAND gate

| )

. AND gate
3, OR gate

4. Ex-NOR gate
Options :
686340153025. 1
686340153026. 2
686340153027. 3



686340153028. 4

Question Number : 57 Question Id : 68634038745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frgmy eE A e g,
el H= 3= [Ha9, L= =g [awr

H—=> I,
ll%" ]‘1
H——> 1,

T

CAE

s, IR s, — Frifa fRg 2

——— = out put

U5 GgHBdD I § &

1. NAND 7I¢
. ANDTIE

3. 0RTIT

| S

4. Ex-NORTIE
Options :
686340153025. 1
686340153026. 2
686340153027. 3
686340153028. 4

Question Number : 58 Question Id : 68634038746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A combinational logic circuit has three inputs A. B and C and one output Y. The
output Y=1. when at least two inputs are 1. otherwise. Y=0. In 1ts minimised SOP
realization. the maximum number of two-input terms is:

1.1

[ B]
2

4.4
Options :



686340153029. 1
686340153030. 2
686340153031. 3
686340153032. 4

Question Number : 58 Question Id : 68634038746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Hgad Ao (qdh) URUY & diF a9 A, B SR ¢ a1 Us =19 v 51 Frig
Y=1BId1 € 5e &H 4 HH &l (197 1 814 8, 81 a1 Y=0 §Id1 8| 30 FAaHiPpd
SOP WU &, 3ff¥ad (21) 2 - o Bl &1 =

1.1

[ ]
2

4.4
Options :
686340153029. 1
686340153030. 2
686340153031. 3
686340153032. 4

Question Number : 59 Question Id : 68634038747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{Oscillator and Amplifier) (Characteristics)
A [Wien-bridge oscillator I. [Low output impedance
B. [Voltage-shunt feedback amplifier | II |RF frequency range
C. |Crystal Oscillator III. JAudio frequency range
D [Current-shunt feedback amplifier | IV [High output impedance]

Choose the correct answer from the options given below:

1. A-II. B-IV. C-III. D-1

|

AL B-IL C-1L D-IV
3. A-IIL. B-1. C-II. D-IV

4, A-II. B-IT1, C-IV, D-I
Options :
686340153033. 1
686340153034. 2
686340153035. 3
686340153036. 4



Question Number : 59 Question Id : 68634038747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl 1 D1 gl 11 9 fHaH Sifey

H?&I{ﬂwéﬁ?ﬁﬂﬁﬂ T 11 (FERTIETy)

A @A Tqaa® L [Fg Frid gidansn
B. [dlec sl B TR0 1L [RF gk R
C. [fEd gle® 111 |40 TR W
D. [UR1-8i G0 gaud | IV [3= 1d idanyl

FFafaRad faeedl § U el SR &1 994 I ;
1. A-II, B-IV, C-IIL D-I
2. AL B-IL C-I, DIV
3. AL B-I, C-IL D-IV

4. A-IL. B-II1. C-IV. D-I
Options :
686340153033. 1
686340153034. 2
686340153035. 3
686340153036. 4

Question Number : 60 Question Id : 68634038748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The resolution for n-bit system D/A Converter is

I
N

]

| B

[}

ol

T
Z
g

42N
Options :
686340153037. 1
686340153038. 2
686340153039. 3
686340153040. 4

Question Number : 60 Question Id : 68634038748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U n-fae o (e p/A ofiads & fau fade g

| ]
|

4, 2%
Options :
686340153037. 1
686340153038. 2
686340153039. 3
686340153040. 4

Question Number : 61 Question Id : 68634038749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The mput-output characteristics of a Schimitt trigger 1s given in figure.

The noise margin of the Schmitt Trigger 18

/ V&
sV
i M
v 3V Vi

1.1V

2.2V

33V

4.4V

Options :

686340153041. 1
686340153042. 2
686340153043. 3
686340153044 4

Question Number : 61 Question Id : 68634038749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U fHe for &t Faw-frfy e e & 4w )
fRrre feTR %1 @ Il @ro) e

AV,
5V

IV WV X

1.1V

| ]

2V
3.3V

4.4V
Options :
686340153041. 1
686340153042. 2
686340153043. 3
686340153044. 4

Question Number : 62 Question Id : 68634038750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the number of selector lines required in a 1:16 demultiplexer?

1.16

| )
e

3.4

4,216
Options :

686340153045. 1
686340153046. 2
686340153047. 3
686340153048. 4

Question Number : 62 Question Id : 68634038750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U 1:16 dgdbae H (ol T=A1 S aR= T@I (Addcs dIg) SaRgedd]

SRk

1. 16

2
—

3.4

4. 216
Options :

686340153045. 1
686340153046. 2
686340153047. 3
686340153048. 4

Question Number : 63 Question Id : 68634038751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion: Clipping circuits control the shape of the waveform by clipping on
removing a portion of the applied wave.

Reason R: Clipping circuit needs minimum three components namely an ordinary
diode. a resistor and a capacitor.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

I

. Both A and R are correct but R NOT the correct explanation of A

L)

. A 15 correct but R is not correct

4, A is not correct but R is correct
Options :
686340153049. 1
686340153050. 2
686340153051. 3
686340153052. 4

Question Number : 63 Question Id : 68634038751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 31 Y AU & U SHBYUT (Assertion A) P 9 T ffad € d g9R1 39S
PRU[ (Reason R) & %Y 4;

HIHYA A: Baid IRTY, B 1 TG a0 & U YN I g2 & gRI o]
=0 B Al oA e §

BHRUR: Tl IRTY B HH T HH A 9| B Ha0Hd 8dl 8, UF IH
SIS, U HioRiY SR U@ duila

SIRIF YT & i J. = B faeedl d 3 968 Iugad ST &l 994

1. ARREFI T8l § AR R, A DI Ta] ST &

A SRR G Tol €. dfFT R, A P! TSl TRAT Tl &
3. AUEI S AfFT R WS TR ©

4 ATSI RIS AT R WEI B

Options :

686340153049. 1
686340153050. 2
686340153051. 3
686340153052. 4

-2

Question Number : 64 Question Id : 68634038752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the power and current gains of a transistor amplifier are 16500 and 100
respectively. then voltage gamnis

1. 165

I

. 165=10%
3. 100

4, 1/165
Options :
686340153053. 1
686340153054. 2
686340153055. 3
686340153056. 4

Question Number : 64 Question Id : 68634038752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ofe Us gifore: Wau® & Qfad 3R YR afel BHET: 16500 3R 100, O Gleco
() @t grit

1. 165

[ B

.165x10*
3. 100

4. 1/165
Options :
686340153053. 1
686340153054. 2
686340153055. 3
686340153056. 4

Question Number : 65 Question Id : 68634038753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The purpose of a coupling capacitor in a transistor amplifier 1s to

1. mncrease the output impedance of transistor

| )

. protect the transistor
3. pass A.C and block D.C

4. provide biasing
Options :
686340153057. 1
686340153058. 2
686340153059. 3
686340153060. 4

Question Number : 65 Question Id : 68634038753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ue giforex Hate o, TP g HeIA &1 3e=a © -
1. giforex &1 Frid widaren &1 gerr
2, T &1 Al
3. TRATad ORI (AC) Tl 964 o 3R ¥ 4R1 (DC) Bl A1
4, STEFT (@TE) HaH HRAT

Options :

686340153057. 1
686340153058. 2
686340153059. 3
686340153060. 4




Question Number : 66 Question Id : 68634038754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The frequency stability of the oscillator output is maximum in

1. LC Oscillator

|

. phase-shift Oscillators

Cad

. Crystal Oscillators

4, Wein bridge Oscillators
Options :
686340153061. 1
686340153062. 2
686340153063. 3
686340153064. 4

Question Number : 66 Question Id : 68634038754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U aIad & (719 @1 g wiftd o i g 8|
1.LC gl®

Dol

3. fopeed ala®

4. 411 g Slerep

Options :

686340153061. 1
686340153062. 2
686340153063. 3
686340153064. 4

[

Question Number : 67 Question Id : 68634038755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Dark Current in semi-conductor photo-diode 1s

1. The forward bias current

[ )

. the forward saturation current

. the reverse saturation current

L]

4, the transient current
Options :
686340153065. 1
686340153066. 2



686340153067. 3
686340153068. 4

Question Number : 67 Question Id : 68634038755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U5 daEs Biel SHs | 3Eid yRT § -

1. 3RS Ty URT
3T e 4RT

Y e U

4, &for® Y

Options :

686340153065. 1
6863401530066. 2
686340153067. 3
686340153068. 4

I

[#5]

Question Number : 68 Question Id : 68634038756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An Op-amp has a slew rate of 5V/us. The largest sine wave output voltage
possible at a frequency of IMHz is

1. 10wV

| ]

5V
3. (S

4. (5/2m)V
Options :
686340153069. 1
686340153070. 2
686340153071. 3
686340153072. 4

Question Number : 68 Question Id : 68634038756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U® Op-amp Bl ad H&Uh al 5Vips g | FYIfad AT aH sine T F91d dlee,
1MHz 3Tqfi TR B -

1. 10wV

| )

5V
3. (SImV

4. (52m)V
Options :
686340153069. 1
686340153070. 2
686340153071. 3
686340153072. 4

Question Number : 69 Question Id : 68634038757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a fixed-bias common-emitter Circuit,

A. Maintaining Iz constant will not provide operating-point stability as
changes.

B. IB should not be allowed to change as to maintain Vi-g and I constant as
changes.

C. The reverse saturation current Ico doubles for every 10 °C rise in
temperature.

D. The value of stability factor S=(1+p)

E. The circuit is highly unstable

1. Aand C only

-2

A, Cand D only
3.A.B.C.D Only

4 A C,D.E Only
Options :
686340153073. 1
686340153074. 2
686340153075. 3
686340153076. 4

Question Number : 69 Question Id : 68634038757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



% fAR 9199 IYafHy Soeid gy 1,

A. 1 ! R G910 3@ IR, p & URdd- 9. U= fd4g ®iifia 8l U=
BT

B. Iz B Rad= &1 AN, Vg SR I B p & gRacd g4 9=, R §91

C. Uy Gt YR Ieo T HM & 10° C A §¢H U §THI &1 S 3

D. TTIHR0I 0N &1 A S=(1+f) &

E. URUY 554 & SR ©

1. Pad A 3R C
HIATA. C AR D
PAAA.B.C 3R D
4. PAAA.C.DIARE

Options :

686340153073. 1
686340153074. 2
686340153075. 3
686340153076. 4

| ]

L]

Question Number : 70 Question Id : 68634038758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Sequence components of the fault current in a system are as follows:

I =il.5pu

positive
Inega‘tive =—j05pu
Lew = —3lpu

The type of fault in a power system 18

1.LG

[

LI
3.LLG

4, LLLG
Options :
686340153077. 1
686340153078. 2
686340153079. 3
686340153080. 4

Question Number : 70 Question Id : 68634038758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fepeit e &9 URT & S H 9e® 38 UPR QUM E --
g =11.5pu

==—]05pu

Iy = —jlpu
gifgd Aem § -3 USR #1582

1.LG

| )

. LL
3.LLG

4. LLLG
Options :
686340153077. 1
686340153078. 2
686340153079. 3
686340153080. 4

Question Number : 71 Question Id : 68634038759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTIT
(Tvpe of Device) | (Characteristics/ Application)
A |GTO I. |Triggering Circuit
B. [UIT II. |Tum off by negative pulse rate]
C. [TRIAC II1. [High Speed Switching
D. MOSFET IV |Bidirectional Switching

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV. D-I1

|

AL B-IV. C-1, D-11
3. A-L. B-IIL C-IV, D-1III

4, A-I. B-IV. C-II, D-III
Options :
686340153081. 1
686340153082. 2
686340153083. 3
686340153084. 4

Question Number : 71 Question Id : 68634038759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



g 1 1 gl 11 9 fHaH Sife

R IR FT USR] T 0 ieRare Ut

A lgTO I [gaee (SR uigy

B. [UIT 1. [omdE® e i gRI 85 S
C. [TRIAC 111 [3=2 =Te [’"g=H

D. [MOSFET v [efefm g

fFafeiad fasedl § O 9! 3R &1 99 Sifuil

1. A-II. B-1. C-IV, D-I1
2. AL B-IV. C-1. D-II
3. A-L B-II. C-IV. D-III

4. A-L. B-IV. C-I1. D-IIT
Options :
686340153081. 1
686340153082. 2
686340153083. 3
686340153084 4

Question Number : 72 Question Id : 68634038760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List II

LIST I (Type of reley) LIST II {characteristics)
X
I

A
A Mho relay L /ﬂh\\ SR
L/

A
/]

B. [Plain Impedance Relay | 1T

W

/-r"
2

C. [Directional relay 1L

A
M

/]
D. |Angle Impedance Relay] IV <D =R

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-II. D-1

|

CA-IV. B-1. C-I1. D-II1
3. A-IIL B-1. C-I1. D-IV

4, A-IV, B-II, C-I. D-III
Options :
686340153085. 1
686340153086. 2
686340153087. 3
686340153088. 4

Question Number : 72 Question Id : 68634038760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



gt 1 D1 gl 11 9 fHaH Sl

LIST I (WdERY & TR ) LIST II ((9=10amy)
X
P

A |Mho) HE! UfTHRUI L 1N SR
N
X
B. [G3 (G uidenr ufagron| 1 S
X
Y\
¢ s unee m N p

A
\

/A
D. [®ivfg ufaeryl gfaarm v (’\ >R
|/

frafafad foeedl § O U8l SR &1 994 oifau.
1. A-IIL, B-IV, C-II, D-I
2. A-IV, B-I, C-II, D-III
3. A-IIL B-I. C-IL, D-IV

4. A-TV. B-I1. C-1. D-III
Options :
686340153085. 1
686340153086. 2
686340153087. 3
686340153088. 4

Question Number : 73 Question Id : 68634038761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The meremental cost characteristics of two generators delivering a total load of
200MW are as follows.

df;/dp; =2.0+0.01 Py. df,/dp,=1.6+ 0.02P,
What should be the values of P; and P, for economical operations?

1.P;=P,=100 W

| Sl

. Py=80MW, P,=120 MW

L%

. Py=200 MW, P; = OMW

4, P=120MW, P,=80MV
Options :
686340153089. 1
686340153090. 2
686340153091. 3
686340153092. 4

Question Number : 73 Question Id : 68634038761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 O, ST 200MW @1 $A TS WeH TR 38 & 3 a1ftie geg Lmany T8 §

dfy/dp; =2.0 + 0.01 P,. dfy/dp,= 1.6+ 0.02P,
df oot vame & g P, 31K P, &1 HH FTERM

1.Pj=P, =100 W

[ ]

. Py=80MW, P,=120 MW
3. P=200 MW, P, = OMW

4. Py=120MW, P,=80MV
Options :
686340153089. 1
686340153090. 2
686340153091. 3
686340153092. 4

Question Number : 74 Question Id : 68634038762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The bus admittance matrix of a power system 1s given as.

] 2 3
| |=/50 +/710 +/5
2 | +j10 —j30 +/10
3 |+j5 +j10 —j25

The impedance of line between bus 2 and bus 3 will be equal to
1.-0.1
2. 4+0.2
3. -j0.2

4, +0.1
Options :
686340153093. 1
686340153094. 2
686340153095. 3
686340153096. 4

Question Number : 74 Question Id : 68634038762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Qidaret! (T (@) S1. &9 Ha=gdl 3HogE [l 1§ -

I 2 3
1 [=j50 +j10 +j5
2 [ +j10 —;30 +;10
3 [+/5 +j10 =525

9 2 IR TY 3 & o B a5 &1 widare fead sver il
1. -0.1
2.+j0.2
3.-0.2

4, +0.1
Options :
686340153093. 1
686340153094. 2
686340153095. 3
686340153096. 4



Question Number : 75 Question Id : 68634038763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A buck regulator has a input voltage of 16V and the required output voltage is 4V.
What is the duty cycle of the regulator?

-
|

i

Options :

686340153097. 1
686340153098. 2
686340153099. 3
686340153100. 4

Question Number : 75 Question Id : 68634038763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% 8% (AYRF) g3 1 a9 dieedl 16 V & IR A1aRgF H1id dicedi 4
V 8 I e @1 ST SuTd 1 g

§.=
16

8

| ]

£ |

4.

4= |

Options :

686340153097. 1
686340153098. 2
686340153099. 3
686340153100. 4

Question Number : 76 Question Id : 68634038764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The classification of transmission lines (T.L)as short. Medium & Long T.L is based
upon

1. Nominal Voltage of the line

2

. Physical length of the line
3. Wave length of the line

4. Power Transmitted over the line
Options :
686340153101. 1
686340153102. 2
686340153103. 3
686340153104. 4

Question Number : 76 Question Id : 68634038764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 15 &1 aiexul oiy Y, He 3R <1 fhg o= enumid g2

1. Q24 &1 A1 dieed]

s @1 Wifds darg
A B ded

I

LS ]

4, TS 9= 9ITek] Bl Ul
Options :
686340153101. 1
686340153102. 2
686340153103. 3
686340153104. 4

Question Number : 77 Question Id : 68634038765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In single pulse modulation of PWM inverter. third harmonic can be eliminated if
pulse width 1s equal to

1. 60°

| )

. 30°
3:150"

4,120°
Options :
686340153105. 1
686340153106. 2
686340153107. 3
686340153108. 4



Question Number : 77 Question Id : 68634038765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T PWM UIAHe &1 Thd wWe Argad 1, dRR gHiH® &1 fae fear o
Heod| § afe e [awR ECHEEE

1. 60°

| B8]

307

4. 1202
Options :
686340153105. 1
686340153106. 2
686340153107. 3
686340153108. 4

Question Number : 78 Question Id : 68634038766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a 400 KV Network. 360 KV 1s recorded at a 400KV Bus. The reactive power
absorbed by stunt reactor rated for 50M VAR, 400KV connected at a BUS i3

1, 61.73MVAR

b2

. 55.60MVAR

Laa

. 45MVAR

4. 40.5MVAR
Options :
686340153109. 1
686340153110. 2
686340153111. 3
686340153112. 4

Question Number : 78 Question Id : 68634038766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 400 KV & IROY |, 400KV §9 TR, 360 KV 3ifded a1 7T41| TS Tie
fyoges g7 fHefRd soM VAR, 400KV Wil Ts BUS © Taifvid 8. & fom
SN wiard wfdd gt

1. 61.73MVAR

| ]

. 55.60MVAR

3. 45MVAR

4. 40.5MVAR



Options :

686340153109. 1
686340153110. 2
686340153111. 3
686340153112. 4

Question Number : 79 Question Id : 68634038767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The circuit shown in the figure will work as

5
/s K

v, Lg = R 3

1. Buck-boost converter

| ]

. Buck converter
3. Boost converter

4, Dual converter
Options :
686340153113. 1
686340153114. 2
686340153115. 3
686340153116. 4

Question Number : 79 Question Id : 68634038767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oo o1 i T o®! axg & | TU

1. 9% - sfiafia uRades
g% - URad®d

3. fftrafefa uRads

4, 5d gRad®

Options :

-2



686340153113. 1
686340153114. 2
686340153115. 3
686340153116. 4

Question Number : 80 Question Id : 68634038768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 15 the maximum output voltage of a 3-ph bridge rectifier supplied with line
voltage of 440V?

1. 528V

| ]

. 396V
3. 594V

4, 616V
Options :
686340153117. 1
686340153118. 2
686340153119. 3
686340153120. 4

Question Number : 80 Question Id : 68634038768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3-Ph I [GFHRI, o 440V 1 A1ZA dieed] W& 1 @kl g, & sifermay
foeie Siecar ar gy

1. 528V

| )

. 396V
3,504V

4, 616V
Options :
686340153117. 1
686340153118. 2
686340153119. 3
686340153120. 4

Question Number : 81 Question Id : 68634038769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Match List T with List II

LIST1I LIST 11
Voltage Stability 1. |Power system stabilizen
Transient stability II. Damping Power

S REE

Oscillatory instabiling 111 |Angle stability
Study-state dyvnamics| [V, [Reactive power

Choose the correct answer from the options given below:

1. A-L. B-IIL. C-IL. D-IV

-J

CA-IV. B-11, C-III D-1
3. A-L B-IL. C-III. D-IV

4, A-TV. B-I1I. C-1I. D-I
Options :
686340153121. 1
686340153122. 2
686340153123. 3
686340153124. 4

Question Number : 81 Question Id : 68634038769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt 1 D1 gl 11 9 fHaH Sife

T 1 T 11
diecal =Tad I [ENe Hog SR
&ifores =@ 11 |3farc 2hied
cifoid ofTiteg | 111 [pivfia =i
R HawT Tide | IV [3dwfsareia oifea

fFafeiad f[dsedl § O gl U &1 994 DIl ;

1. A-L. B-IIL. C-IL D-IV

ola[w[s

2. A-IV. B-I1. C-I1II, D-I
3. A-L, B-II. C-II1, D-IV

4. A-IV. B-I11. C-I1. D-I
Options :
686340153121. 1
686340153122. 2
686340153123. 3
686340153124. 4

Question Number : 82 Question Id : 68634038770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PIV of a SCR is 650V. Find out the required Voltage if the safety factor is 2.

1.230.4 Volt

[ )

. 232 Volt

. 300 Volt

L]

4, 320 Volt
Options :
686340153125. 1
686340153126. 2
686340153127. 3
686340153128. 4

Question Number : 82 Question Id : 68634038770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U® SCR B PIV. 650V § | dleedl &1 I Td DITo1g Afe FR&T 0N 2 5
1.230.4 diee

232 dlec

3. 300 @lee

4,320 dleC

Options :

686340153125. 1
686340153126. 2
686340153127. 3
686340153128. 4

[

Question Number : 83 Question Id : 68634038771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A fully controlled line commutated converter functions as an inverter when firing
angle (<) is in the range.

1. 0°-90°

| )

. 90°-180°
3. 90°-180° (Only when there 1s a suitable dc source in the load)

4. 0°-90° (Only when there is a suitable de¢ source in the load)
Options :
686340153129. 1
686340153130. 2
686340153131.3
686340153132. 4



Question Number : 83 Question Id : 68634038771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ue quf i we faaaRad! gitade, Us ufddia® &1 avg &1 Hdl g o
BRI BT TR A gl

1. 0°-90°

-

. 90°-180°

90°-180° (Fad 7d, T 394F DC Hid AS 1 ©)

L]

4. 0°-90° (a4 a4, 91§ 3UgF DC A AIS § B)
Options :
686340153129. 1
686340153130.2
686340153131. 3
686340153132. 4

Question Number : 84 Question Id : 68634038772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Calculate the area required for Rotor to generate 4.5KW in a Simn/s. Assume a drive
tram efficiency of 0.85. a generator efficiency of 0.75. and an altitude of 92m

. 3
1. 265m"

| S
i
L)
| B
n
e
=

I

. 26.5m?

L]

4.13.25m’
Options :
686340153133. 1
686340153134.2
686340153135.3
686340153136. 4

Question Number : 84 Question Id : 68634038772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U AR (Yuieh) B, 5m/s T 4. 5KW Ida B & € fba- B B
S{Ta=aesdl gt | A1 Bic=Ta ¢ &6 0.75 SR g 02 Hiex 3

- a
1. 265m"

| B)

.
c132.5m”

"
3, 26.5m~

4. 13.25m?



Options :

686340153133. 1
686340153134. 2
686340153135. 3
686340153136. 4

Question Number : 85 Question Id : 68634038773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Higher concentration ratio increases the absorber temperature.

B. The thermal efficiency of the power cycle decreases with an increase in
absorber temperature.

C. The thermal efficiency of the power cycle increases with an increase in
absorber temperature.

D. The higher the concentration, the lower is the temperature of absorber.

E. The higher the concentration ratio, the higher is the temperature of absorber.

1. A.C.E Only

)

. C.E Only
3.D. C.E Only

4. B.C Only
Options :
686340153137. 1
686340153138. 2
686340153139. 3
686340153140. 4

Question Number : 85 Question Id : 68634038773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. 37 Aigdl U, 3=y &I d99H §gldl §

B. [fdt <%h 1 QT4 &I, 3RS S dI9HT §g-1 4. b2l &

C. i Fep 1 AU G4, A=Y & dIUHM dg- 3. §gdi &

D. ot s 3 Bl ©. Sfave &1 ar9aF Sl 4 T 8

E. To/aH1 Sigdl SiHUd 3= g1 § a1 ol SIaRI¥e &I dI99 3= oldl o

4 feu mu fomenl §f T U SR AU -
1.$dd A, C.E

PAUC. E

3. $ddD.C.E

4. %dd B, C

Options :

686340153137. 1
686340153138. 2
686340153139. 3

| )



686340153140. 4

Question Number : 86 Question Id : 68634038774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solar photovoltaic system feeds power to a motor of 1hp at the shaft. The motor
has an efficiency of 85%. Each module has 40 multi crestline Silicone solar cells
arranged in 9%5 matrix? The cell 1s 130 mm» 130 mm and the cell efficiency 1s
13%. Calculate the number of photovoltaic modules required. assuming global

radiation incident to the panel as 1kW/m?

1.7

[ ]
[wa]

4. 10
Options :
686340153141. 1
686340153142. 2
686340153143. 3
686340153144. 4

Question Number : 86 Question Id : 68634038774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE UR YD diec g P, TF Hiex &1 M9 TR, 1hp e I RO IRAT©
TIEX Bl Gefdl 85% 8| B8R WA= U (WIS P 40 Tgibecarg [Gikip IR
AT N0 ~ 5 %Wﬁ@@ﬁ%l U 130 mm » 130 mm © 3R A B
&l 13% ¢ | Ul dlec g Uid=uds! &1 T8 JTd ifelt afe Iad | mafag
yHsdy fafeor 1kwim? 3

i

-
a)

4. 10
Options :
686340153141. 1
686340153142. 2
686340153143. 3
686340153144. 4

Question Number : 87 Question Id : 68634038775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Pyranometer measures global solar radiation received from entire hemisphere
on a horizontal surface.

B. Solarimeter can be interpreted to mean same as pyrheliometeric mstrument.

C. Pyranometer produces a voltage as a function of the incident solar radiation.

D. Pyranometre uses photovoltaic detectors.

E. Pyranometre's spectral response is linear.

Choose the correct answer from the options given below:

1. A.B, C Only

| )

.B.D.E Only
3.A.C.D Only

4. C.D. E Only
Options :
686340153145. 1
686340153146. 2
686340153147. 3
686340153148. 4

Question Number : 87 Question Id : 68634038775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A URRAMTER 3 YHSam IR fafdon o g19ar €, o 98 &fas 908 )
IR ey O g HRal g

B, HieRHic: 3, faepd U SREe: 39Sy 1 dve Il § Haatd
CRIEIEIE]

C. UIEAHTER, dived 309 &l & o dfad IR fafdwun &1 wea- e gl

D. UTexAHICR UPIY dlee i TYa® P Jr HRal gl

E. Mg AHTeR o7 WaeH sfifoar s gidt 21

1 few o faeed 1 4 wel SR i -
1. A.B.C

. $du B, D, E

3. Bdd A, C,D

4.%dd C, D.E

Options :

686340153145. 1
686340153146. 2
686340153147. 3
686340153148. 4

| )

Question Number : 88 Question Id : 68634038776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LISTI LISTII
A |Water heating system L LSEd. " o
conditions
B. T II. [Freezing problem in collector

CONSCqUENCEs

. [Heating svstem with
C. -
storage tank
D For large quality of hot
" |water

III. [Forced circulation

IV |Air heating system

Choose the correct answer from the options given below:

1. A-II. B-IV. C-III, D-I

| ]

CA-IL B-IV, C-L D-II1
3. A-IIL B-I1. C-IV. D-I

4, A-TV. B-I1I. C-1I. D-I
Options :
686340153149. 1
686340153150. 2
686340153151. 3
686340153152. 4

Question Number : 88 Question Id : 68634038776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 51 gal 11 F e Sifo
T 1 T 11
A. [Sd a4 o 1. [3@eiuu UdR & T $alRH H Judi
B. [@I< giumHi &1 E1g 11 [Gamer d o/ @1 991
C. [T UoTel USRI ¢ & 91 | 110 [Aunfed UREaR
D. [7H Ul &1 4 71 IV. [arg a9+ uoret
fFafeiad faweal § O 981 SR &l 999 Siful

1. A-IL. B-IV. C-III. D-1
2. AL B-IV., C-1. D-IIT
3. A-TIL B-IL. C-IV. D-I

4. A-IV. B-I1I. C-II. D-I
Options :
686340153149. 1
686340153150. 2
686340153151. 3
686340153152. 4



Question Number : 89 Question Id : 68634038777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST 1 LISTIT
n Vertical axis wind I Higher wind energy conserved
"7 Jurbines " lefficiency
B. b anable specdind II. [Lower wind energy conservation
turbines =
. Horilzonral sty ik IIT. High mechanical stress
turbines 55
Fixed speed wind . High-energy conservation
D. : V. .
turbines efficiency

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-1. D-II

| S

CA-IL B-IV. C-I1. D-III
3. A-IL B-IV. C-I. D-III

4, A-IV. B-III. C-II. D-I
Options :
686340153153. 1
686340153154. 2
686340153155. 3
686340153156. 4

Question Number : 89 Question Id : 68634038777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
g 1 D1 gl 11 9 fHaH Sifen

gt 1 T 1
IR &I U oXaleq| 1 [3wd Uad Foll ©Uiaiul GafdT
R dId Ja cXais 1L |5 Ua- Sl Sa0l G&dl

aifder 3felig ugq exaga | 1L [3=d gifde uidad]
&R o1d Uad ez 1V. [3= Sl EUiaU G&fdl

fFafeiad faeedl § O Il ST & 994 Dol :

1. A-IIL B-IV. C-I. D-1II

ola[w[s

2. AL B-IV, C-I1L D-III
3. A-IL B-IV. C-1. D-III

4. A-IV. B-ITI. C-11. D-I
Options :
686340153153. 1
686340153154. 2
686340153155. 3



686340153156. 4

Question Number : 90 Question Id : 68634038778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTII
A (B e 1 meeds low temperature and high
pressure
B. [Pvrolvsis II. |an upgraded vegetables o1l
. iguibicaanpThio 11T |direct combustion of biomass
mass
D [Incimeration IV |biomass into more useful products.

Choose the correct answer from the options given below:

1. A-II. B-IV. C-I, D-III

| )

CA-ITL B-TV. C-IIT, D-1
3. A-I. B-III. C-II D-IV

4. A-I. B-III. C-IV, D-II
Options :
686340153157. 1
686340153158. 2
686340153159. 3
686340153160. 4

Question Number : 90 Question Id : 68634038778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gt 11 gl 11 ¥ e Sifeg

gl 1 et 11
A a2 1[4 dIY 3R 3= &l ®I I dhdl eldl &
B. [3I0-3[0geq II. [0% 3=9dd gI8d da
C. [Sid So9HF @1 5q01 | 111 [Wid God9H &1 U Ga
D. [{RHIEL IV. [S1d SodHE @1 4® SUdrT 3del 5
FafaRad [deeal ¥ 4 981 3R &1 991 Sifulg -

1. A-IT, B-IV. C-I, D-III

2. AL B-TV, C-I11, D-I

3. A-L B-III. C-II D-IV

4. A-I. B-III. C-IV. D-II
Options :

686340153157. 1
686340153158. 2



686340153159. 3
686340153160. 4

Question Number : 91 Question Id : 68634038779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Factors affecting the performance of solar collector are:

A, Selective surfaces, spacing, dust on top cover.

B. Outlet fluid temperature. Spacing. mcident solar flux.

C. Number of glass covers, incident solar flux

D. Spacing between glass covers, their munbers (glass cover)
E. Inlet fluid temperatures

1.A. C.D Only
2.A C.E Only
3.B.C.E Only

4. A B.C.D Ounly
Options :
686340153161. 1
686340153162. 2
686340153163. 3
686340153164. 4

Question Number : 91 Question Id : 68634038779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

IR U6l & U & YYTfdd & a0 FRP § -

A. TRUTHS FdE, SHavTd iR WY TR R &4d

B. 4711 %a argam. sidwra. smufad 9 waed (ifiare)

C. T HER B H-, U GR TR,

D. T FaR] (SATERUI) & did SfeR1d AR I70] &1 (A" Tl &)
E. Hdf=e1 5 droaH

= feu Tt faeedl § § et IR 4
1. BIAA. C.D

. ®AUA, C,E

3. Bdd B, C,E

4. PAAA,B.C.D

Options :

686340153161. 1
686340153162. 2
686340153163. 3
686340153164. 4

[ )



Question Number : 92 Question Id : 68634038780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Kinetic energy of the wind is proportional to (velocity).

Statement IT: Kinetic energy of the wind is proportional to area of sweep of wind
turbine and also on Air density.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both Statement I and Statement I are correct

| ]

. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement IT is incorrect

4, Statement I is incorrect but Statement IT 1 correct
Options :
686340153165. 1
686340153166. 2
686340153167. 3
686340153168. 4

Question Number : 92 Question Id : 68634038780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SEEAEIE ATl
Y - Ga- &1 Tael Holl 39 (G7)° T LR B3t g1

Y 11: UG- D1 el Holl, 99 a5 eI WY 7% 3R §aT & ¥-d 93
1t Fafk w81

SRIEd DY & i H. A f3u 7Y faeedl § ¥ 969 Sugdd SRk ol 99+
PIfoIC;

1. YT 1 AR 11 a1 ael &
FYFIARIEA Tad &
3. YT 1 TEl 6. df SUA 11 7Tad ©

4. BYT 17T, AT HYT 11 ol &
Options :
686340153165. 1
686340153166. 2
686340153167. 3
686340153168. 4

| ]



Question Number : 93 Question Id : 68634038781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
International organization which coordinates and unify the petroleum policies is:

1. United Nations Economic Commission

| )

. United Nations Industrial Comimission
3. 8AARC

4, OPEC
Options :
686340153169. 1
686340153170. 2
686340153171. 3
686340153172. 4

Question Number : 93 Question Id : 68634038781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gm@u@mﬁﬁﬁ@ﬁmﬁ#ﬁﬁﬁwa?ﬁqmmmw N ¢ T8

[y

 GAIEES A9 ShIHD HHITH

 GAIECS Y g Ryd SR

| ]

3. SAARC

4, OPEC
Options :
686340153169. 1
686340153170. 2
686340153171. 3
686340153172. 4

Question Number : 94 Question Id : 68634038782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following area 1s preferred for solar plants?

1. Coastal areas

| )

. Hot arid zones
3. Mountain tops

4. High ramfall zones
Options :
686340153173. 1
686340153174. 2
686340153175.3



686340153176. 4

Question Number : 94 Question Id : 68634038782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR wie & fou - f3u 1w H-3 831 (932 &1 adadl 1 Sl 82
1.t &4
2. T b U
3. gdd 9t
4, 3= 991 &4 (ISR

Options :

686340153173. 1
686340153174. 2
686340153175. 3
686340153176. 4

Question Number : 95 Question Id : 68634038783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Reason for acid rain is the pressure of the following gas in the atmosphere.

1. CH

| ]

.H,

3. NH,4

4. H5S
Options :
686340153177. 1
686340153178. 2
686340153179. 3
686340153180. 4

Question Number : 95 Question Id : 68634038783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Faffea d 9, agdsy & 59 719 % o & SR g avl gidl §

1. CH

!u
&



Options :

686340153177. 1
686340153178. 2
686340153179. 3
686340153180. 4

Question Number : 96 Question Id : 68634038784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
At present. the percentage of electricity comes from fossil fuels in India is around

1. 57

[ ]

37
3. 77

4, 87
Options :
686340153181. 1
686340153182. 2
686340153183. 3
686340153184. 4

Question Number : 96 Question Id : 68634038784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hrored farem ufrerd & @, YRa o fagyq. Siareet, oM, 3 ot 82

1. 57

[ )
%)
o |

4. 87
Options :
686340153181. 1
686340153182. 2
686340153183. 3
686340153184. 4

Question Number : 97 Question Id : 68634038785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In terms of total primary energy consumption. At present India stands at what
position 7

1. First

2

. Second

3. Third

4, Fourth
Options :
686340153185. 1
686340153186. 2
686340153187. 3
686340153188. 4

Question Number : 97 Question Id : 68634038785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DO WUHS FHoll GUHN & el H YR DT giH I 1 52
1. ggal

2. GERT
3. 4w
4. 9T

Options :

686340153185. 1
686340153186. 2
686340153187. 3
686340153188. 4

Question Number : 98 Question Id : 68634038786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One of the roles of ozone layer 1s to protect earth from

1. Sound Waves

| B

.UV Radiations
3. IR. Radiations

4, Greenhouse effect
Options :
686340153189. 1
686340153190. 2
686340153191. 3
686340153192. 4



Question Number : 98 Question Id : 68634038786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS URd B U YfHen] Gl i FRam 9EI
1. e 7l

.UV fafero

3. IR fafemi

4. H SIS (U181 9%) WM
Options :
686340153189. 1
686340153190. 2
686340153191. 3
686340153192. 4

| B

Question Number : 99 Question Id : 68634038787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The main constituents of Acid rain are

1. Nitric acid and acetic acid

|

. Nitric acid and sulfuric acid
3. Sulturic acid and acetic acid

4, Acetic acid and hydrochloric acid
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Question Number : 100 Question Id : 68634038788 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LIST IT
A [Kakrapar Atomic Power station 1. |Uttar pradesh
B_ [Narora Atomic Power Station II. [Kamataka
C. [Kaiga Nuclear Power Plant III_ [Tamilnadu
D. [Kudankulam Nuclear Power Plant] IV |[Gujrat

Choose the correct answer from the options given below:

1. A-L. B-IL. C-IIL. D-IV
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CA-IV. B-1, C-IIL. D-II
3. A-IV. B-1., C-II. D-III

4, A-11. B-1. C-IIL. D-IV
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2. A-IV. B-1, C-II1, D-II
3. A-IV. B-1. C-II. D-III

4. A-I1. B-1. C-III. D-IV
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